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§. Assume that you are an engineer for a car manufactrer. Your job is to design

4 new disk for front disk brakes that is more durable thau the one currently

{%’5) e use. For your study you select a sample of 10 brand-new cags that are all

: of the same type. The following table shows the digk's performance, which is
measured by the the Joss of the material on the digk.

. CATE E’}LMI#—P_'I.
1 2 3 4 5 6 7 8 0 10 51”‘“”*’”“%@ el
r . _ .
Newdisk Y, |7 3 3 4 8 3 2 95 4)F=48,5 =573
| Olddisk ¥, |6 3 5 8 8 2 4 ¢ 4 3 Yy = 4.9, 5% = 4.9888

Answer the following questions: Use v = 0.65 for any test.

{a-,} Make inferences about the difference in the mean loss of the material for
the new and old disk, assuming that car effect is negligible. (Make any
appropriate assumptions if you need),

- {b) Make inferences about the difference in the mean foss of the material for
the new and old disk, assaming that car effect capnot be ignored. [Make
any appropriate assumptions if you need).

&. There ia abous 20 percent of the students have grades above 70 for 1993 master

entrance examination. Professor Wang found that 20 among of 80 atudents

G %) have grades above 70 for 1394 master entrance examination. [oes this suppah
Profeszor Wang's claim thal the improvement has been made. Use o = 0.05.

(a) Write down the anil and alternative hypotheses.
(b] Give the best procedure to make such a decision.
{¢} What iz your decision based on the above procedure.
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FEAT 03, 07, 0.5, 0.8, 6.9, 0.7, 0.8
FEB 07, 0.8, 0.7, 0.6, 21 06 14, 23
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